Example

u If f(x)= Vx and g(x)=+4 x* , find the

functions f+¢,f-g,fg,and f/g.

* >X<Also examine the domain of each of these new functions
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Compositions of Functions

When the input in a function is another function, the result is called a composite
function. If

f(x)=3x+2andg(x)=4x-5

then [ g( x)] is a composite function. The statement f[ g{ x)] is read " f of g of x"
or "the composition of fwith g." f[ g( x)] can also be written as

(feg)(x) or fog(x)

The symbol between f and g is a small open circle. When replacing one function with
another, be very careful to get the order correct because compositions of functions
are not necessarily commutative (as you'll see).

Fd=%  9()=-1



Example 1
Iff(x)=3x+ 2and g( x) =4 x -5, find each of the following.
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Example 2

IffA x) = 352 +2x+ 1andg(x)=4x-5,find each of the following:
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Check Up

Given the three functions....
fla)=1-x glx)=Jx+1 hlz)=x 45

Evaluate each of the following:
L (fog)3) =" 1/7_(3) r 2/ h(D=015=S
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Chapter Review from textbook...

Pages 56-57
#2,3,6,8,9,10, 11, 14, 15, 16

Practice Test
Pages 58-59
All questions
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